Aun GBES quaretwise, Arcl Asym: Bearm ON, Laser OFF

Flun GBES quanetwise. ISba2 Acym: Baam ON, Lasear OFF
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Flun GBES cuanebwise, DSbg2 Aspm: Baam ON, Lasar OFF

Flun GBES quanetwise, Side Fingar Aaym: Beam ON, Laser OFF
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Flun GBES quarnetwise, LISba1 Asym: Baam ON, Lasar DFF
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Hun GBES quanstwise. DSbeg1 Asym: Baam ON, Lasar OFF
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Acc0 Asym (ppt): -28.80 +/- 125.40
USbg1 Asym (ppt): 5.31 +/- 5.98
USbg2 Asym (ppt): -7.20 +/- 4.03
DSbg1 Asym (ppt): -0.44 +/- 1.56
DSbg2 Asym (ppt): 1.25 +/- 1.40

Top Finger Asym (ppt): 4.14 +/- 6.29
Side Finger Asym (ppt): -0.97 +/- 4.06



Run 5EE5, quartatwise: USbg2 vs tima

Run 5665, quartetwize: LUSbg1 vs time
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EntryS

Run 5EE5, quartetwise: DSbg2 vs time
Run 5665, quartetwise: horizFing vs fima
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Run 5665, guartetwise: vertFing vs time

Run 5665, quartetwise: DSbg1 vs time
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